3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

RE:

SPECIAL EDUCATION

TOTAL SERVICES FOR THIS MATTER

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066

www.hlerk.com

\$929.00

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> March 31, 2020 Invoice #: 48542

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|-----|---|-------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | LITIGATION | |
| | TOTAL SERVICES FOR THIS MATTER | \$186.00 |
| RE: | BOARD GOVERNANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,662.00 |
| RE: | BOARD POLICIES | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,511.00 |
| RE: | FOIA-OMA | |
| | TOTAL SERVICES FOR THIS MATTER | \$11,825.00 |
| RE: | STUDENTS | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,501.00 |

| RE: | LABOR | | |
|------|------------------------------------|------------|--------------|
| | TOTAL SERVICES FOR THIS MATTER | | \$31.00 |
| | | | |
| RE: | HHSTA | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$224.00 |
| | | | |
| RE: | PERSONNEL | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$13,578.00 |
| | | | |
| RE: | REAL ESTATE | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$1,054.00 |
| | | | |
| RE: | CONTRACTS | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$1,984.00 |
| | | | |
| BILL | ING SUMMARY | | |
| | FOR PROFESSIONAL SERVICES RENDERED | 137.60 hrs | \$34,735.00 |
| | ADMINISTRATIVE EXPENSES | | \$2,084.10 |
| | TOTAL AMOUNT OF THIS BILL | | \$36,819.10 |
| | PREVIOUS BALANCE | | \$74,658.92 |
| | BALANCE DUE | | \$111,478.02 |
| | | | |

page 2



page 3

FOIA-OMA

| Hinsdale 86 | | | | | page 4 |
|---------------|-----|---|----------|---------|----------|
| 03/02/2020 I | DMS | Continue to review and revise Levinthal Request for Review | 1.40 hrs | 270 /hr | \$378.00 |
| 03/03/2020 I | DMS | Research re: Ascher Request for Review; draft re: same | 1.40 hrs | 270 /hr | \$378.00 |
| 03/03/2020 I | DMS | Research re: Levinthal Request for Review; continue to draft re: same | 1.40 hrs | 270 /hr | \$378.00 |
| 03/04/2020 I | DMS | Continue to review and revise re: Ascher Request for Review | 1.30 hrs | 270 /hr | \$351.00 |
| 03/04/2020 I | DMS | Continue to review and revise re: Levinthal Request for Review | 1.30 hrs | 270 /hr | \$351.00 |
| 03/05/2020 | SMR | Consult with Attorney Schneider and review and revise and (Ascher) | 0.60 hrs | 310 /hr | \$186.00 |
| 03/05/2020 \$ | SMR | Consult with Attorney Schneider and review and revise and (Levinthal) | 0.70 hrs | 310 /hr | \$217.00 |
| 03/05/2020 | DMS | Review and revise re: Request for Review | 1.30 hrs | 270 /hr | \$351.00 |
| 03/05/2020 I | DMS | Conference with Attorney Richart re: Ascher and Levinthal Request for Review | 0.20 hrs | 270 /hr | \$54.00 |

| Hinsdale 86 | | | | | page 5 |
|-------------|-----|---|----------|---------|------------|
| 03/05/2020 | DMS | Continue to review and revise re: Ascher Request for Review [NO CHARGE] | 3.00 hrs | 270 /hr | \$0.00 |
| 03/05/2020 | DMS | Contnue to review and revise re: Levinthal Request for Review [NO CHARGE] | 3.00 hrs | 270 /hr | \$0.00 |
| 03/06/2020 | SMR | Consult with Attorney Schneider and review and revise ; email re: (Ascher) | 1.90 hrs | 310 /hr | \$589.00 |
| 03/06/2020 | SMR | Review ; consult with Attorney Schneider re: same and ; review and revise ; email re: (Levinthal) | 3.50 hrs | 310 /hr | \$1,085.00 |
| 03/06/2020 | DMS | Review and revise re: Levinthal Request for Review | 0.40 hrs | 270 /hr | \$108.00 |
| 03/06/2020 | DMS | Continue to review and revise re: Ascher Request for Review [NO CHARGE] | 1.30 hrs | 270 /hr | \$0.00 |
| 03/06/2020 | DMS | Continue to review and revise re: Levinthal Request for Review [NO CHARGE] | 3.20 hrs | 270 /hr | \$0.00 |
| 03/06/2020 | DMS | Continue to review and revise re: Ascher Request for Review [NO CHARGE] | 3.20 hrs | 270 /hr | \$0.00 |
| 03/09/2020 | SMR | Review, revise, finalize and consult with Attorney Schneider re: (Levinthal) | 2.20 hrs | 310 /hr | \$682.00 |
| 03/09/2020 | SMR | Review, revise, finalize and consult with Attorney Schneider re: (Ascher) | 1.70 hrs | 310 /hr | \$527.00 |
| 03/09/2020 | DMS | Continue to prepare re: Levinthal Request for Review: file | 4.50 hrs | 270 /hr | \$1,215.00 |

re: Levinthal Request for Review; file re: same

Hinsdale 86 page 6

03/09/2020 DMS Continue to prepare

re: Ascher Request for Review

re: Ascher Request for Review; file re: same

1.00 hrs 270 /hr

\$270.00

3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066

www.hlerk.com

Stephanie Christensen Post Office Box 71110 Oak Brook Terrace, IL 60181

March 31, 2020

Invoice #: 48471

REMITTANCE COPY

RE: PATEL v. HINSDALE 86

CLAIM NO.:

ADJUSTER: Stephanie Christensen

Date of Coverage: Initial Budget: \$

Previous Amount Billed: \$15,791.00 through 2/29/20

TOTAL SERVICES FOR THIS MATTER \$4,367.00

BILLING SUMMARY

| FOR PROFESSIONAL SERVICES RENDERED | 22.60 hrs | \$4,367.00 |
|------------------------------------|-----------|-------------|
| TOTAL AMOUNT OF THIS BILL | | \$4,367.00 |
| PREVIOUS BALANCE | | \$15,791.00 |
| TOTAL ADJUSTMENTS | | -\$84.00 |
| BALANCE DUE | | \$20,074.00 |

3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Stephanie Christensen Post Office Box 71110 Oak Brook Terrace, IL 60181

> March 31, 2020 Invoice # 48471

PATEL v. HINSDALE 86

for

CLAIM NO.:

ADJUSTER: Stephanie Christensen

Date of Coverage: Initial Budget: \$

Previous Amount Billed: \$15,791.00 through 2/29/20

| 03/02/2020 | BB | L220 A104 Continue preparation | 0.50 hrs | 210 /hr | \$105.00 |
|------------|-----|---|----------|---------|----------|
| 03/02/2020 | BB | L160 A104 Continue analysis re | 0.90 hrs | 210 /hr | \$189.00 |
| 03/02/2020 | BB | L160 A106 Phone conference and correspondence with re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/02/2020 | BB | L220 A106 Correspond with read and | 0.10 hrs | 210 /hr | \$21.00 |
| 03/02/2020 | BB | L220 A106 Correspond with re: and | 0.20 hrs | 210 /hr | \$42.00 |
| 03/02/2020 | BB | L220 A104 Review re: | 0.10 hrs | 210 /hr | \$21.00 |
| 03/02/2020 | DMS | L220 A104 Review re: | 0.80 hrs | 190 /hr | \$152.00 |
| 03/03/2020 | BB | L160 A106 Phone conferences (2) and email correspondence with | 0.50 hrs | 210 /hr | \$105.00 |
| 03/04/2020 | BB | L160 A106 Correspond with re: | 0.20 hrs | 210 /hr | \$42.00 |
| 03/04/2020 | BB | L160 A103 Continue and conclude preparing | 0.90 hrs | 210 /hr | \$189.00 |

| Edu | ucation S | chool In | isurance Coo | | | page 2 |
|------|-----------|----------|---|----------|---------|----------|
| 03/0 | 04/2020 | BB | L160 A106 Phone conferences and correspondence with re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/0 | 05/2020 | BB | L160 A108 Review correspondence from opposing counsel re: | 0.10 hrs | 210 /hr | \$21.00 |
| 03/0 | 09/2020 | BB | L160 A106 Correspond with | 0.10 hrs | 210 /hr | \$21.00 |
| 03/ | 10/2020 | BB | L120 A106 Correspond with | 0.20 hrs | 210 /hr | \$42.00 |
| 03/ | 11/2020 | DMS | L120 A103 Prepare, and | 1.40 hrs | 190 /hr | \$266.00 |
| 03/ | 12/2020 | BB | L120 A103 Review and revise re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/ | 12/2020 | DMS | L120 A103 Continue to prepare | 0.50 hrs | 190 /hr | \$95.00 |
| 03/ | 13/2020 | BB | L120 A103 Continue and conclude re: | 1.50 hrs | 210 /hr | \$315.00 |
| 03/ | 13/2020 | DMS | L220 A104 Continue review of and re: | 0.60 hrs | 190 /hr | \$114.00 |
| 03/ | 13/2020 | DMS | L120 A103 Continue to draft | 0.90 hrs | 190 /hr | \$171.00 |
| 03/ | 18/2020 | BB | L160 A104 Review | 0.40 hrs | 210 /hr | \$84.00 |
| 03/ | 18/2020 | BB | L160 A106 Conference call with re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/ | 18/2020 | BB | L250 A104 Review re: | 0.10 hrs | 210 /hr | \$21.00 |
| 03/ | 19/2020 | BB | L160 A108 Correspond with opposing counsel re: | 0.20 hrs | 210 /hr | \$42.00 |
| 03/ | 19/2020 | DMS | L220 A103 Draft response re: | 2.50 hrs | 190 /hr | \$475.00 |
| 03/2 | 20/2020 | BB | L160 A106 Correspond with re: | 0.40 hrs | 210 /hr | \$84.00 |
| 03/2 | 20/2020 | DMS | L220 A103 Review and revise re | 0.40 hrs | 190 /hr | \$76.00 |

| Education S | chool I | isurance Coo | | | page 3 |
|-------------|---------|--|-----------|---------|-------------|
| 03/23/2020 | ВВ | L220 A104 Continued review of | 1.50 hrs | 210 /hr | \$315.00 |
| 03/23/2020 | DMS | L220 A103 Review and revise re | 0.50 hrs | 190 /hr | \$95.00 |
| 03/24/2020 | BB | L160 A106 Correspondence with re: | 0.20 hrs | 210 /hr | \$42.00 |
| 03/24/2020 | ВВ | L220 A104 Continue review re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/24/2020 | RED | L240 A102 Research re: | 0.10 hrs | 85 /hr | \$0.00 |
| 03/24/2020 | DMS | L220 A103 Review and revise re: | 0.80 hrs | 190 /hr | \$152.00 |
| 03/25/2020 | ВВ | L160 A106 Phone conference with | 0.40 hrs | 210 /hr | \$84.00 |
| 03/27/2020 | ВВ | L160 A106 Begin drafting | 0.50 hrs | 210 /hr | \$105.00 |
| 03/27/2020 | RED | L240 A102 Research re: | 0.60 hrs | 85 /hr | \$51.00 |
| 03/30/2020 | ВВ | L160 A106 Continue preparing re: | 0.50 hrs | 210 /hr | \$105.00 |
| 03/30/2020 | BB | L160 A105 Confer with Attorney Manning re: [NO CHARGE] | 0.50 hrs | 210 /hr | \$0.00 |
| 03/31/2020 | BB | L160 A106 Continue and conclude | 0.50 hrs | 210 /hr | \$105.00 |
| 03/31/2020 | DMS | L220 A103 Review re: | 0.50 hrs | 190 /hr | \$95.00 |
| BILLING S | | ERVICES FOR THIS MATTER RY | 22.60 hrs | | \$4,367.00 |
| FC | OR PRO | FESSIONAL SERVICES RENDERED | 22.60 hrs | | \$4,367.00 |
| | | MOUNT OF THIS BILL | oo ms | | \$4,367.00 |
| PF | REVIOU | S BALANCE | | | \$15,791.00 |

Education School Insurance Coo

page 4

| TOTAL ADJUSTMENTS | -\$84.00 |
|-------------------|-------------|
| BALANCE DUE | \$20,074.00 |

Attorney Summary

| Name | Hours | Rate | Amount |
|-----------------------|-------|--------|------------|
| Bakhtiari, Babak | 13.00 | 210.00 | \$2,625.00 |
| Schneider, Danielle M | 8.90 | 190.00 | \$1,691.00 |
| Domash, Rachel E | 0.70 | 85.00 | \$51.00 |